IMAM SADIQ &
ONLINE SEMINARY

Lesson 84

The ‘Chel’ of i’

If the ‘dae’” and the noun do not match, it is either impermissible such as
in ‘L) 0lsBY and ‘L) 09367 (when the noun is singular but the ‘dae’ is not)
or it is permissible such as in ‘Os4u3l/0lu3l @36 in which the noun has to be
the ‘Uel@’ of the 'da’, replacing the ‘ A5,

The grammarians believe that the governor (J—ls) of ‘2% in ‘lu—us’ is
initiation ‘cla%l” of the sentence; in other words, it is the effect of a figurative
governor rather than a literal one.
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They have given @3y’ to the ‘|\uw’ because of initiation
and the ‘23’ of the ‘ »3' is by ‘|’

In some cases, such as in ‘e 6?_“:9’, a redundant governor may come
on the ‘I’ but it still remains as ‘lwiw’, although its ‘clyel may apparently
change. Y’ is redundant, ‘S’ is ‘I’ and it is in the state of ‘).

The redundant-like governors do not change the scenario either except
in appearance; as in "é‘\f,\j @SB J=) &) in which ‘J=)’ is the ‘luw’ and is at the
state of ‘z9)'.
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